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Fractions | Decimal Percentuge

AR
- 0 95
\S
4

1 1 100%

Hundred Ten Thowsands | Hundreds Tens Tenths | Hundredths .
1 05 50% Theusends | Thausands Ourcle square Atru_un_qlr_:
2 .

length

1 _ O O O
4 0.25 25% '-'.'ldth- o nren—h:_w rectangle pentagon hexagon octagon
- k | 3D Shapes |

3 0.75 75%
4 perimeter = width —
width + width + length + length g Ny o . y
1 0.1 10% cube cuboid sphere ramid cone cylinder
+ X + = + 5 x'ﬁ=3ﬂ faces = flat sides
- = . = . edges = where two faces meet
% 02 20% + H 55 x -g gg vertices = where three or more sides meet (corners)
- X + = - -5 X = -
A .
X - =+ | 5X-6=30 h B
1 4-
3 : 3 =
1 1 centimetre (em) = 10 millimetres {mm) 3 X 21 x {3 '2}
- 1 metre (m) = 100 centimetres b = 1 m:*
6 1 kilometre (km) = 1,000 metres —f—T—T .-l" T :S
-1 1 2 3 4 ]
=}
L0 (right angle) 1 kilogram (kg) = 1,000 grams (g) wr 24
- 1 tonne = 1,000 kilograms
-1
1 litre () = 1,000 millilitres (ml) 44 X (1,-4)
1 litre = 1,000em® -G
lem = 1 ml W




